
日にち： 月 日

３
名まえ

③ 確認

① ４cm５mm－８mm＝ cm mm

② ４cm１mm－１cｍ３mm＝

＜ひっ算＞

－

cm mm

mm

cm mm

４ ５

８

cm mm

＜ひっ算＞

－

cm mm

mm

cm mm

４ １

３cm１

③ ５cm２mm－２cｍ６mm＝ cm mm

＜ひっ算＞

－

cm mm

mm

cm mm

５ ２

６cm２

・計算を しましょう。（うすい字は なぞりましょう。）
けいさん じ

１
３

７



１

日にち： 月 日

３
名まえ

③ 確認 答え

① ４cm５mm－８mm＝ ３ cm mm７

② ４cm１mm－１cｍ３mm＝

＜ひっ算＞

－

cm mm

mm

cm mm

４ ５

８

７３

１
３

２ cm mm８

＜ひっ算＞

－

cm mm

mm

cm mm

４ １

３

８２

１
３

cm１

③ ５cm２mm－２cｍ６mm＝ ２ cm mm６

＜ひっ算＞

－

cm mm

mm

cm mm

５ ２

６

６２

４

cm２

・計算を しましょう。（うすい字は なぞりましょう。）
けいさん じ
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